PRACTICEA Keer g

ILdentify any holes, vertical asymptotes, horizontal asymptotes, and slant asymptotes of each graph. If
they do not exist write none in the space provided. Accurately graph each rational function.
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7. If you have a BOTNO, then there is no HA. Instead, there is a slant or oblique asymptote.

TO FIND THE EQUATION OF A SLANT ASYMPTOTE, you simply perform the division that is left in the
working equation. Any remainder is NOT part of the slant asymptote.
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Suggested
Homework: p. 342 #'s 2-8 (even), 9-14 (all), 38-42 (even), 52-76 (every other even)



